



Index

1.	Digital certificates	. 3
2.	Qualified electronic time stamping	. 4
3.	Website authentication certificate	. 5
4.	Smart card readers	. 5
5	Resending returned shipments	5



1. Digital certificates

ADVANCED QUALIFIED DIGITAL CERTIFICATE FOR LEGAL ENTITIES ON SMART CARD

Qualified digital certificates with two key pair and mandatory use of a smart card can be used for secure electronic signature, for encryption and access control.

You need a smart card reader to work.

	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
1. Standard issue procedure Digital certificate is issued no later than 5 working days after the submission of all necessary documentation and payment received.	28,85€	3 years	86,55€
2. »QUICK« order The digital certificate is issued within 1 day after the submission of all necessary documentation and payment received	35,58€	3 years	106,75€

ADVANCED QUALIFIED DIGITAL CERTIFICATE FOR LEGAL ENTITIES ON USB KEY Qualified digital certificates with two key pair and mandatory use of a USB key can be used for secure electronic signature, for encryption and access control.

	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
Standard issue procedure Digital certificate is issued no later than 5 working days after the submission of all necessary documentation and payment received.	34,62€	3 years	103,86 €
2. »QUICK« order The digital certificate is issued within 1 day after the submission of all necessary documentation and payment received.	41,33€	3 years	123,99€



RENEWAL OF A QUALIFIED DIGITAL CERTIFICATE			
	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
RENEWAL - Collection of qualified digital certificate for legal entities on existing smart card or USB key	16,67€	3 years	50,02€
RENEWAL – Electronic order of qualified digital certificates on a new smart card	22,03€	3 years	66,09€
RENEWAL – Electronic order of qualified digital certificates on a new USB key	26,43 €	3 years	79,30 €

2. Qualified electronic time stamping

QUALIFIED ELECTRONIC STAMP is similar to an electronic signature, with the difference that the signatory is not a natural person with a name and surname, but a legal entity as a whole. A qualified electronic stamp with one pair of keys is used for secure electronic stamping, encryption and access control.

	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
Standard issue procedure on smart card Digital certificate is issued no later than 5 working days after the submission of all necessary documentation and payment received.	28,85€	3 years	86,55€
2. Standard issue procedure on USB key Digital certificate is issued no later than 5 working days after the submission of all necessary documentation and payment received.	34,62€	3 years	103,86 €
3. Issuance of a qualified e-stamp for systems (HSM, devices, servers, etc.) The digital certificate is issued no later than 5 working days after the submission of all necessary documentation, payment received and electronic request.	71,37€	3 years	214,11 €

3. Website authentication certificate

WEB AUTHENTICATION CERTIFICATE is used to certify the public keys of users and organizations that have a valid web address. The server key is used to encrypt a single symmetric session key, which then secures all communication between the server and the client.

	Informative calculation per 1 year	Validity of the certificate	Price with 22% tax
Issuance of a certificate for website authentication	75,00€	2 years	150,00€

4. Smart card readers

82 halcom

Reader type	Price with 22% tax
HID Omnikey 3121 (USB - input)	28,00€
ACS ACR38U (USB - input)	20,00€
HID Omnikey 3021 (USB - input)	20,00€
Manhattan USB Smart/SIM Card Reader Model 102032 (USB - input)	20,00€

Note: Goods and services are delivered or they start to be implemented after the payment has been made.

5. Resending returned shipments

	Price with 22% tax
Smart card or USB key	3,50 €
PIN/PUK code	5,00€





